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Merit  exemplar  for  90838  –  2016   Total  score:  18  

Q   Grade  
score   Annotation  

1   M6  

For  part  (a)  the  evidence  is  at  Merit  level,  as  the  candidate  has  explained  two  
approaches  using  kaitiakitanga  to  maintain  the  positive  relationship  with  the  
stakeholder.  The  candidate  has  explained  the  “what”  (not  using  chemicals  and  
use  less  heavy  machinery)  and  the  “why”  (protect  the  waterways  and  reduce  
the  “footprint”).  
For  part  (b)  the  evidence  is  at  Merit  level,  as  the  candidate  has  explained  one  
positive  and  one  negative  impact.  The  candidate  has  explained  the  “what”  
(more  service  /  unoperational)  and  the  “why”  (customers  do  not  have  to  wait  /  
wait  until  expansion  is  completed).  
The  candidate  has  not  fully  explained  the  “how”  or  given  any  new  information.  

2   M6  

For  part  (a)  the  evidence  is  at  Merit  level,  as  the  candidate  has  explained  two  
negative  consequences.  The  candidate  has  explained  the  “what”  (focus  more  
on  advertising  /  decrease  contracts)  and  the  “why”  (increase  time  away  from  
the  business  /  prefer  new  competitor).  
For  part  (b)  the  evidence  is  at  Merit  level,  as  the  candidate  has  explained  the  
cost  of  one  response.  The  candidate  has  explained  the  “what”  (introduce  
deals)  and  the  cost  of  that  response  (financial),  and  has  fully  explained  this  
response  (customer  loyalty  will  grow).  
However,  the  candidate  has  not  fully  explained  the  other  part  of  this  question,  
although  there  is  sufficient  evidence  to  get  to  the  Merit  level.  

3   M6  

For  part  (a)  the  evidence  is  at  Merit  level,  as  the  candidate  has  explained  one  
way  in  which  the  business  could  damage  the  environment,  and  one  negative  
outcome.  The  candidate  has  explained  the  “what”  (damaging  soil  /  contractors  
leave  /  pay  a  fine)  and  the  “why”  (large  machinery  /  damage  to  environment).  
For  part  (b)  the  evidence  is  at  Merit  level,  as  the  candidate  has  explained  one  
way  in  which  the  business  can  become  environmentally  responsible,  and  has  
explained  two  consequences.  The  candidate  has  explained  the  “what”  (organic  
shampoos  /  more  customers  interested  /  reputation)  and  the  “why”  (haven't  
been  tested  on  animals  /  increased  popularity).  
The  candidate  has  not  fully  explained  the  “how”.  
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